Investigation 1 Practice
A softball pitch is modeled by the parametric equations

X = 15tcos 60° + .7 y = 15tsin 60" - 4.9t2+ 1.5

B A For a player of average height, the strike zone is
between 0.5 m and 1.5 m above the ground.
Should this pitch be called a strike if the front of
home plate is 13.7 m from the mound and the
back of home plate is 14.4 m from the mound?

b. Maintaining the release angle at 60°, modify the
initial velocity of the ball until the pitch crosses the
plate inside this strike zone.

e Now modify the angle of release so that the pitch
crosses the plate inside the same strike zone when
thrown with an initial velocity of 12 m/s.




o)
{PS_) — /S ‘(’; oS éDo—l. 7 >/—_-__ Y. 925 1Stsinto

IS = ) s ° -
’23 Cosbo = —"Iﬁ(l.‘):ja“/s”cz.?})srn“
B e
- o = 65 L
t /5_50.5&0
Nag o 56/.’]66_

= L%



b 17 = Uyt cos ¢+ N 2= 4945+ Vot sin ™+ |5

I'> inle o
_ “"tvf‘tl'l'(bast,o tesinlo +

Vo
\/ _ --‘-’I.‘ibl"\' Stanlo +1.5
yoo = | = —4.9L5+24.0%
° (2aMosesS —24.0% - aTes
__l,}oq_:—“lﬁt"
(.9 =1 L T2dol
t = 44

L=

t:2-17



XK= [OLcos o +.7 \/:—"L‘i{f‘ﬂoi—,s;n@ 1.5

_ s N\ 1> Nsin&
) 7)7 = O coss -+.7 - —‘-'[ﬂl Ioccsb +[0( 0 cose S
| S5= ok — 2
co=S | = E—Tel——l— |2 ten® +). 5
E . I—S 25
_ 1O co — %.18\
e o = L1560 +. S

Cos &



